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> read"/] ohn/Rutgers/Senior Fall/Dynamic Models/M15.txt";

Helpl5( );
HW3(u,v,w), HW2(u,v), Disl(F,y,y0,h,A), ToSys(k,z,f,INI) €))
_> #1 a
5
0rbk(2, zz[1] (? — 2[2]), [0, 0], 1000, 1020);
[0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0] )
i 5 2 2
> Orbk(2,z,z[1]- (? —z[2]), [?, ?}, 1000, 1020);
2222 2222 2222222222222 3)
3°3°3°373°373°373°373°373373°373373"3"3
[ > #b
Orbk(2,z,z[1]-(2 —z[2]), [0, 0], 1000, 1020);
[0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0,0] )
B Orbk(2,z,z[1]-(2 —z[2]), [1, 1], 1000, 1020)
(,Ln1,L5L1, 5151011011, 01,1, 1,1 Q)
(> #4a

plot(Disl(y-(3 —y)-(5—»),», 0.01,0.01, 20));

If

2.5

0.5

2 4 6 8 1o 12 14 le 18 20

> plot(DisI(y-(3 —»)-(5—»),» 0.01,3.01,20));




8.X10110'

7_x10110'

6.><10110-

5.x 10110.

4.x 10104

3.x 101101

2_x10110'

1. x 101107

5 10 15 20

(> plot(Disl(y-(3 —y)- (5 — ),y 0.01,5.01,20));

3.x 10104

2.x10'64

1.x 1016-

0 T T T —T T

> #b
plot(Dis1(y*- (3 = y)- (5 — )~ (7 — ). 0.01,0.01,20))




2.5

0.5

.

2 4 6 3 10 12 14

> plot(DisI (- (3 — )+ (5 — y)- (7 — ), 3, 0.01, 3.01,20) )

0 5 10 15
2% 10240-
4. % 10240-
-6. % 10240-
-8. x 102404
-1.x 102414

-1.2x 102414

14x 102414

S1.6x 10241-

S1.8x 10241-

> plot(Dis1(3*-(3 —y)- (5 —¥)-(7 =), 0.01, 5.01,20) )




22 x 10124

-4.x10'

-6.x 10121

-8.x 1012

71'x1013-

B plot(Dis1(37-(3 —y)-(5—y)-(7—y),y,0.01,7.01,20) )

Y P ————

-207

-30

-404

-504

- 604

- 704




